Transfers Report

This report contains the transfers results.

Contest Name	Ward 7 - Paisley Southwest
Valid Votes	5,264
Positions to be Filled	4
Quota	1,053

Stage 1

Candidate Name	Affiliation		No. of Ballot Papers
Stephen BURNS	Scottish National Party (SNP)		1,288
Lorraine CAMERON	Scottish National Party (SNP)		1,120
Anne HANNIGAN	Scottish Liberal Democrats		754
Scott KERR	Independent		86
Kevin MONTGOMERY	Scottish Labour Party		1,384
Marc SCHMITZ	Scottish Conservative and Unionist		524
Richard VASSIE	Independent		108
		Total	5,264

Candidate Stephen BURNS Elected with 1,288 votes, being in excess of the quota of 1,053 Candidate Lorraine CAMERON Elected with 1,120 votes, being in excess of the quota of 1,053 Candidate Kevin MONTGOMERY Elected with 1,384 votes, being in excess of the quota of 1,053

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Kevin MONTGOMERY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Anne HANNIGAN	458	0.23916	109.53528
Transfer to Scott KERR	80	0.23916	19.13280
Transfer to Marc SCHMITZ	181	0.23916	43.28796
Transfer to Richard VASSIE	112	0.23916	26.78592
No further preference	553	0.23916	132.25548
Not transferred due to rounding			0.00256
	Total		331.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Surplus of Stephen BURNS

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Anne HANNIGAN	316	0.18245	57.65420
Transfer to Scott KERR	169	0.18245	30.83405
Transfer to Marc SCHMITZ	17	0.18245	3.10165
Transfer to Richard VASSIE	83	0.18245	15.14335
No further preference	703	0.18245	128.26235
Not transferred due to rounding			0.00440
	Total		235.00000

Transfers Report

This report contains the transfers results.

Stage 4 - Surplus of Lorraine CAMERON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Anne HANNIGAN	307	0.05982	18.36474
Transfer to Scott KERR	119	0.05982	7.11858
Transfer to Richard VASSIE	116	0.05982	6.93912
No further preference	564	0.05982	33.73848
Not transferred due to rounding			0.00160
	Total		67.00000

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Scott KERR

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Anne HANNIGAN	15	1.00000	15.00000
Transfer to Marc SCHMITZ	13	1.00000	13.00000
Transfer to Richard VASSIE	39	1.00000	39.00000
Transfer to Anne HANNIGAN	12	0.23916	2.86992
Transfer to Marc SCHMITZ	10	0.23916	2.39160
Transfer to Richard VASSIE	42	0.23916	10.04472
Transfer to Anne HANNIGAN	28	0.18245	5.10860
Transfer to Richard VASSIE	89	0.18245	16.23805
Transfer to Anne HANNIGAN	19	0.05982	1.13658
Transfer to Marc SCHMITZ	2	0.05982	0.11964
Transfer to Richard VASSIE	65	0.05982	3.88830
No further preference	19	1.00000	19.00000
No further preference	16	0.23916	3.82656
No further preference	52	0.18245	9.48740
No further preference	33	0.05982	1.97406
Not transferred due to rounding			0.00000
	Total		143.08543

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Richard VASSIE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Anne HANNIGAN	57	1.00000	57.00000
Transfer to Marc SCHMITZ	24	1.00000	24.00000
Transfer to Anne HANNIGAN	45	0.23916	10.76220
Transfer to Marc SCHMITZ	17	0.23916	4.06572
Transfer to Anne HANNIGAN	107	0.18245	19.52215
Transfer to Marc SCHMITZ	7	0.18245	1.27715
Transfer to Anne HANNIGAN	81	0.05982	4.84542
Transfer to Marc SCHMITZ	4	0.05982	0.23928
No further preference	66	1.00000	66.00000
No further preference	92	0.23916	22.00272
No further preference	58	0.18245	10.58210
No further preference	96	0.05982	5.74272
Not transferred due to rounding			0.00000
	Total		226.03946